MATH 280 — QUIZ #3 Name: rel

T

Directions: Please show all work for maximum credit. This quiz is worth 14 points. Good
luck!

1. Find fo., £, £/, : Given f(x,y)=4x’ cos(3y2). Determine the following.

(Ipoiny) a. f, = |3t cos(3y?)
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(3 points) 2. Find the following limit:
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(3 points) 3. Given the following function: f (x.)= x> +3*. Sketch the function’s level
curves when k=0, k=9, and k£ =25.
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(3 points) 4. Show that : li)-g(lo 0)_6x_2 has no limit by considering the different paths method.
xy)00) x° —y

Explain your answer.
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